
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
   Μεταξύ	
   των	
   δομών	
   που	
   ευθύνονται	
   για	
   τη	
   λειτουργία	
   των	
   όρχεων	
  
περιλαμβάνονται	
   τα	
  σπερματικά	
  σωληνάρια	
  και	
  η	
   επιδιδυμίδα.	
  Να	
  απαντήσετε	
  
στις	
  ερωτήσεις:	
  

	
  
α)	
  Ποια	
  είναι	
  η	
  μορφή	
  	
  των	
  σπερματικών	
  σωληναρίων	
  και	
  ποιος	
  ο	
  ρόλος	
  τους;	
  (4μ)	
  
	
  
β)	
  Ποιος	
  ο	
  ρόλος	
  και	
  η	
  μορφή	
  της	
  επιδιδυμίδας;	
  Πόσες	
  επιδιδυμίδες	
  υπάρχουν	
  σε	
  
κάθε	
  φυσιολογικό	
  άντρα;	
  (4μ)	
  
	
  
γ)	
   Μέσω	
   ποιων	
   τμημάτων	
   του	
   αναπαραγωγικού	
   συστήματος	
   του	
   άνδρα	
   η	
  
επιδιδυμίδα	
  συνδέεται	
  με	
  τη	
  βάλανο;	
  (4μ)	
  	
  

	
  
ΙΙ.	
   Η	
   αιμοσφαιρίνη	
   Α	
   είναι	
   ο	
   κύριος	
   τύπος	
   αιμοσφαιρίνης	
   των	
   ενηλίκων.	
   Να	
  
απαντήσετε	
  στις	
  ερωτήσεις:	
  
	
  
α)	
  Σε	
  ποια	
  είδη	
  κυττάρων	
  συναντάται;	
  Πού	
  παράγονται	
  τα	
  κύτταρα	
  αυτά;	
  	
  (2μ)	
  
	
  
β)	
  Με	
   ποια	
   αέρια	
   μπορεί	
   να	
   συνδέεται	
   το	
   μόριο	
   της	
   αιμοσφαιρίνης	
   Α;	
   Τι	
   χρώμα	
  
αποκτά	
  όταν	
  συνδεθεί	
  με	
  καθένα	
  από	
  αυτά;	
  	
  (4μ)	
  
	
  
γ)	
  Ποιο	
  από	
  τα	
  αέρια	
  του	
  ερωτήματος	
  β.	
  δεσμεύεται	
  από	
  την	
  αιμοσφαιρίνη	
  Α	
  στους	
  
πνεύμονες	
   και	
   ποιο	
   στους	
   ιστούς,	
  ως	
   συνέπεια	
   του	
  μεταβολισμού	
   των	
   κυττάρων;	
  
(2μ)	
  
	
  
δ)	
  Τι	
  χαρακτηρίζουμε	
  ως	
  αναιμία;	
  Ποιες	
  είναι	
  οι	
  διαφορετικές	
  μορφές	
  της	
  πάθησης	
  
που	
   έχουν	
   κληρονομικά	
  αίτια;	
  Ποια	
  από	
  αυτές	
   εμφανίζεται	
   με	
  μεγάλη	
  συχνότητα	
  
στη	
  χώρα	
  μας;	
  (5μ)	
  	
  
	
  
ΘΕΜΑ	
  Δ	
  
	
  
Ένας	
  μαθητής	
  ακούει	
  το	
  κουδούνι	
  του	
  σχολείου	
  να	
  χτυπά	
  στο	
  τέλος	
  της	
  7ης	
  ώρας	
  
και	
   χαρούμενος	
   συγκεντρώνει	
   τα	
   βιβλία	
   του,	
   προκειμένου	
   να	
   επιστρέψει	
   σπίτι.	
  
Το	
   ερέθισμα	
   που	
   προκάλεσε	
   την	
   αντίδραση	
   του	
   μαθητή	
   μεταβιβάστηκε	
   στο	
  
υποδεκτικό	
  όργανο	
  της	
  ακοής,	
  με	
  τη	
  βοήθεια	
  τριών	
  διαφορετικών	
  μέσων.	
  	
  

	
  
• Το	
  πρώτο	
  από	
  αυτά	
  είναι	
  ο	
  ατμοσφαιρικός	
  αέρας,	
  	
  
• το	
  επόμενο	
  μια	
  σειρά	
  στερεών	
  σωμάτων	
  στα	
  οποία	
  συμπεριλαμβάνονται	
  

δύο	
  μεμβράνες	
  και	
  3	
  οστά	
  και	
  το	
  τελευταίο	
  είναι	
  
• ένα	
  υγρό.	
  	
  
	
  
Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  
	
  

I. Ποια	
   είναι	
   τα	
   στερεά	
   σώματα	
   που	
   συμμετείχαν	
   στη	
   μεταβίβαση	
   του	
  
ερεθίσματος	
  στο	
  εσωτερικό	
  των	
  αυτιών	
  του	
  μαθητή	
  και	
  με	
  ποια	
  σειρά;	
  	
  



	
  
II. Πώς	
   ονομάζεται	
   το	
   υγρό	
   που	
   συνέβαλε	
   στη	
   μεταβίβαση	
   του	
   ερεθίσματος	
  

στο	
   υποδεκτικό	
   όργανο	
   της	
   ακοής;	
   Σε	
   ποια	
   κατά	
   σειρά	
   τμήματα	
   του	
  
εσωτερικού	
   αυτιού	
   διαδόθηκαν	
   οι	
   παλμικές	
   κινήσεις	
   του	
   συγκεκριμένου	
  
υγρού;	
  Πώς	
  ονομάζονται	
  τα	
  κύτταρα	
  που	
  αποτελούν	
  το	
  υποδεκτικό	
  όργανο	
  
της	
  ακοής;	
  Πού	
  αλλού	
  στο	
  αυτί	
  υπάρχουν	
  τέτοια	
  κύτταρα;	
  (12+13μ)	
  

	
  


